Tableaux des Puissances de Dix (I)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (I) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 10 0,0001 0,01 0,001
46 460 0,0046 0,46 0,046
27 270 0,0027 0,27 0,027
72 720 0,0072 0,72 0,072
33 330 0,0033 0,33 0,033
9 90 0,0009 0,09 0,009
X 0,1 0,01 0,001 10 000
85 8,5 0,85 0,085 850 000
61 6,1 0,61 0,061 610 000
26 2,6 0,26 0,026 260 000
38 3,8 0,38 0,038 380 000
86 8,6 0,86 0,086 860 000
X 10 0,01 0,0001 1000
43 430 0,43 0,0043 43 000
17 170 0,17 0,0017 17 000
26 260 0,26 0,0026 26 000
23 230 0,23 0,0023 23 000
77 770 0,77 0,0077 77 000
X 10 000 100 1 000 10
72 720 000 7200 72 000 720
55 550 000 5500 55000 550
33 330 000 3300 33000 330
39 390 000 3900 39 000 390
21 210 000 2100 21 000 210
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